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Q.1 feg g fasmeal & @ = ues fAfYa adteh @ a1 g1aifen, Uar faeea sr=a i Y avg =8t 81
39 farehed A1 I99 &SI 31T @ ST 21

Ans o 1. RESULT : SFTVMU
#< 2. PRISON: QQURPM
75 3.NATION: OZUHPM

/< 4.SOURCE : TNVQDD

Question ID : 60092910761

Q.2 U fAfga @iz A" fir kir tin"" 51 312f & 'brown is better
and magenta, 3fiR ""tin pot fat"" =T 31f & ""magent
hT hi'S T ghTT?

Ans X1 kir
75 2.tin
W 3. fat
K 4. pot

Question ID : 60092910765

Q.3 fag g reet ) 39 e & Hafya &L fa v & F gl A gIa &1

1. Gallery

2. Galactose
3. Galilean
4. Gallantry
5. Galloping

Ans X' 1 23514

of 223415
/X 3.23145
/X 4.23451

Question ID : 60092910759



Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


Q.4 f=fafRa d @ ot Iz siepfa ust s ot qzr w=et 82

Ans

F

adda

Question ID : 60092910775

Q.5 famfofae srar siae d g ug A1d &%

,TJC, SIB

Question ID : 60092910758




Q.6

Ans

ut 7, Qe sy far mar g, o arg &) farendf | 3R 11 fEw g &1 smuept 399 Syl &t 9

AT @, Wt &Y Ug rETad: A1 a2 @ = uelia g1 sruen! ag fAufa d=n @ o feg e fasarut

# @ &t 91, afg &iE g, at fRu 1g husr d I SrgRor &=an 81
HY: IR ERY & forg grfenes &1

forsentf | : =feh &Y eRTa =1t =it =nfaal
forsenef 11: St @it T Y i @ & gham @ /A @l

J1.éﬁaﬁmlsﬂwaﬂm%
25 2. 13R 11 & SFERoT AT &

7 3,71 MR T & I SFgEReT T &
/X 4. et Frsand |1 SRERoT @Rl &

Question ID : 60092910769

Q.7

Ans

frafafEa & @ o9 a1 3 ey e, g1 ok g & o= & deiw o1 aad srest ufafafia

Nele

v

x

N

adda

X s

ol

Question ID : 60092910772




Q.8 39 SIS &1 T s st u A &) 7 S d I vehR 9 Hefda @1
gt ?
Ans X 1. TR : TG
75 2. F8R gEd
X 3. gt
of 4 sirraw

Question ID : 60092910763

Q.9 & é sepfar & Arogert it sifdereaw wwar ara w3

Ans X111
K 2.9
K 312
o 410

Question ID : 60092910776

Q.10 &g g faereul & @ i< ger fAfa a¥teh @ 9uT &1 81T, Ueh farehed 3= ot Y awg =gl 21
I farehret o1 T & oIt R T ST &1

Ans XT
X2
< 3
v o

Question ID : 60092910774

Q.11 39 frepea o1 Ig+1 o3 Wit R g & IE ueh1e & Hafda @ fore uerR @ govT ug ugst ue &
Tefda g1

gafgardt : ware : favafa ;2
Ans ?{1313@—
o 2. ot
X 3.5
p R

Question ID : 60092910762

Q.12 & 7é angfa &, o HE=ad Fadt U sipfa fY & F© haw &) spfa At & o o Faa =
3repfar bt &1 I STt 1 g1 AT R Sl haet &t 3kl | Hafda g1
Ans  of 116
K212
X 319
/X 4.20

Question ID : 60092910773




Q.13 usr d, Geh oy fEar mar g, o arg andard & ) w1 3R 1 fEw g &1 smueRt 391 =i &t
A ATFAT &, ¥ &) g Grar=ue: A1 a2 9 {3 uedid 811 simuent ag fAofa aar & fak e g
RIETS <k shd & @ RIS IT drfcher TU A foraT ST E |

HYU: Qe helT | 19 ST sife wdtar & Fevet & gQ Uehs QI

RIS <kl ShH:

I: STl ) g Ae g ok g ust uzr & a1y udtar R @ forea & forg et e anfgal
11: ag faiy ofter | &R & st anfaal

Ans X" 1. | 3R || EHT SIEROT A &
(2.éﬁalaﬁwm%
#5371 MR & I SFgERT T &
X4,mlla{[§|¥mm%

Question ID : 60092910768

Q.14 fag g faepenl & @ i ges fAfRa aftah @ guTa &1 gTeifen, Uah faehed o= ofia &Y awg =gl 21
3IY e o1 79 &R o1t 39T @ ST 2l

Ans X' 1821

/X 2.887
/X 3.953
o 2978

[ Question ID : 60092910771

Q.15 ag faerea ATa & St areaa d st JTepfa (X) sFTQm?

Ans J 1.

& adda
X 3

Question ID : 60092910777




Q.16 XYZ &u-t # it ug &y Rfveai g1 swefigar &t

1. 75 ufeRra sichl & ary fardt off fawa d =raes gr=n @nfawl
2. 05/03/2021 @k 25 3% 35 axf i sy & ft= g =nfgal
3. CA g1 CS yuf farar gi=m =nfggl

4. T 3R & a1 1 ghan afgul

frrferfaa sroare g gl &

A. afg w1 Iufigam IR 4 o1 Btgar o= Tt AT Sl ) R1 e g, at Iefiear &) ues
ol Gefd feraT S|

B. Uah Slgam: e ey 35 adf @ sifdes &, Afeha 2 af @ sifdes &1 sy 8, 39 AeTves
ol Gefda faraT S|

31501 3 af & IDBI &k # 1A &= 3T & | IHHT ST-H 5/02/1982 T 1T AT IFA 301 CA 2010
# gx1 forar 81 399 NIIT & gasie ofiR &eft R weTfora i+ forg &1 389 TKM faemrera € B.Com
(H) forar 3tz 80 ufaRra siek ure fargi

&9 seftear & ar | wrn fofa foram s arfgg?
Ans o 1 SwicaR @ HEE e & Gl R ST ARy
75 2. gufiear o =g fman St ARy |
75 3. Sufiear ot st o fam ST =R |
75 4. Iufiear o e @ deflfd frar ST iRy

Question ID : 60092910766

Q.17 Teh TteiT &, Ueh BT Udlh TTeid 3«12 < fo1q 1 3ich @t 1 @ 3R e 9l SwR & forg 3 sieh
T T g1 afe ag gaft 100 usit & IR Ear & 3R 88 3ieh g1« &hean &, af 39+ fehat usil a1
gl 3R fear?

Ans X 1.68
/X 2.58

o 3.47
adda

Question ID : 60092910770

Q.18 ek faffa sris wrar &, afE LARGER @&t AMGSRF & = # shifad farar mar €, at RAINED <Rt
&4 sifad ferar sTem?

Ans X" 1 ASINDF
/5 2. ANSJDF
o 3. ASNUDF
75 4. ASNDJF

Question ID : 60092910764

Q.19 feu ng faereal & @ =1 ges fAfYa adieh @ gar= &1 greaifer, Teh faered 3= ot &t &g =81 21
I faehed 1 90 & Sit 3T 9 ST 21

Ans X 1.0QsU
o 2.BDFG
X 3.Tvxz
75 4. HILN

Question ID : 60092910760




Q.20 ©g Af~h faeigpet Uk g8R Y @R Hg Hech, Tdh N F S A A ghr WU @2 ¢ | Aiga d FsR A
Tl @l @ weg e & arfeit o & Wit = i ok §E ek @ &1 wifeien &19 & ard ok @
STt J1g=1 i 3R Hg ek @eT &1 9 oh &ich a4 | &I g?

Ans X 1w
o 2.5
X 3.e@m
X ag

Question ID : 60092910767

Section : General Awareness

Q.1 f=fafla d | fraw wgras yfaer (afgen) d adeis sifmar & forg fRrerthar gren= 2021
Sftar?

Ans X" 1 <ffr e

W 2. TR SR

/X 3. mFd e
/X 4 FaTg

Question ID : 60092910790

Q.2 f=fafaa 3 & 9 fora= @kad ae widH srardw 2021 &Y dsanit 2
Ans X 1. Tigeh 3o AR

X 2w

75 3. gses fehrew
v dddad

Question ID : 60092910797

Q.3 TETErd Prfafla d @ frw 78 & Remd fRra 2
Ans X1 @Rd

X 2. 7

X 3.7

o 2. sEe

Question ID : 60092910785

Q.4 W<y Gfaena & fA=faf@a wrmi & @ ota " via & &9 d s, arforsy i A= @
Gefa @?

Ans B 1 VI
o 2. s X
X 3.9 X
X 4.y

Question ID : 60092910795




Q.5 fa=fafEad @ o 91 HY= T g?

Ans  off 1 gred e # wret i oRe # wiel & omee & wU F vraer i &)
/X 2. aREdt g & RuTfreed &) g, sfeR R Srefat e &
25 3. it sy & g Mgt ok Rfvaw & g & urayr g
7< 4. radt orpaet 7 T g, Toa geft ofik wwadt gt anfe

Question ID : 60092910794

Q.6 ot 3 fFrfef@a & @ fora fordher &t amarenuT 87
Ans X' 1 gmE @H

/X 2. gdim sEwm

W 3. i TR

X 4. gmE AR

Question ID : 60092910789

Q.7 vuctg d@f3ws A eiie 2021 # en2ftafe gisrn & aga faxfra agraar & ufa arvmeff 21,000 Fuw
9__ &Y Fetadt &t wo &
Ans X" 134,000 3UY
o 251,000 7Y
75 3.60,000 3Ug

75 4.45,000 3ug

Question ID : 60092910791

Q.8 1539 sRamgd_____ % g5 | gard il g
Ans X 1. OgmeR

5 2 =
of 3
X 4 amRT

Question ID : 60092910788

Q.9 faey =R g 3 Avg | ATYIR AT Far &t aerar 37 ok e s= & fog Fafaf@a d @
fora T & 9Ty 9EEtar A9 IR gEare fhg?

Ans X 1. ufgm e
75 2. Ffew
3. R
X 4.3

Question ID : 60092910792




Q.10 fa=fefEa d @ ford e 2021 # srur=t witdafaaR stis, ASICS o1 sis daw=R fag forar
T 8?

Ans X1 feRre sigett
75 2. e sraf
W 3. Rz
X 4. 7% Rig ot

Question ID : 60092910796

Q.11 fa=faf@a d @ fores ugat fg-arflier secha arg@-n swi=R awie, 2021 w1 Igred faran?
Ans X 1. digy e

75 2. iftd g

o 3. o i

K 4 T

Question ID : 60092910793

Q.12 fr=afafEa gifeal d @ foret ' wwrar & wfer’ & w19 & +ft s s1rem 82
Ans X1 BigE |

X 2. @

o 3 &

/< 4 e

Question ID : 60092910784

Q.13 fr=afaf@a 9 @ o= hRimfaaT 99 & H@eafda 8?
Ans X1 Seiieiger

X 2. RSwrEa

o 3. emgaich

/< 4. sriEe

Question ID : 60092910783

Q.14 fr=faf@a d & o= a1 S1ReE I TH1E AE STET ZIRM gl S=14T 7497 AT?
Ans X 1. ST AiSTE

/X 2. arsmea
75 3. et feber

W 4 g amn

Question ID : 60092910779




Q.15 TR UigeT IR wref=n warer i =Ar9=r 1867 & | ¥ ot

Ans

FaRcl
W 2.5

7 3. et

75 4w

Question ID : 60092910786

Q.16

Ans

facita fay g5 a L gom?

75 1.1942
/X 2.1935
75 3.1948
of 41939

Question ID : 60092910787

____________ I &R ot H&fa o & o R o & a1 fr et a1 o deanfaes surai
h IR, TREIRIOT TTY T o forg sraeft ufengfaat @) et Rerd da ot saer e U &
gl

Ans X1 dwmeR
75 2. W Radw
25 3. e IR ST
W 2=
Question ID : 60092910780
=
Q.18 2021 & ssie & YOI & SFHIR, TR Td hedT0l &

Ans

--------- #i gfg et s
W 1.137%
X 2.156%
25 3.112%
X 4.118%

Question ID : 60092910781

Q.19

Ans

Prfafaa § @ @1 Rigagedra @il &1 sarewo 82
W 1 TR
/X 2. sregrifes feor
#< 3. &eits Rt
75 4. e oot

Question ID : 60092910782




Q.20 «ifear dte Tifta asTa &
Ans Jyaq

X 2.t

75 3.9

X 4w

& 7@ | AT Siran g1

Question ID : 60092910778

Section : Arithmetic Ability

Q.1 smgfa agyst fafra at & forg = ot & frafa ($ fRferaa #) @t gufar &1 fra o 4 fafs,
ot aut & 3 2t g oftwa fFafa & wrar @?

Ans X" 1.2019
/< 2.2018
o 3.2020
< 4.2017

Question ID : 60092910817

Q.2 3mgaf fafdr= Aftral § aiek ure &= arat S13 h d=ar @t g2ufar 8, S=raq 3ick 100 g1 af
Ihof sies 40% &, &t S131 & foha TaTgUTa 7 wder I<diof i 82

Ans X" 1.92%

/< 2.88%
o 4.70%

Question ID : 60092910816

Q.3 A, B 3R C Ueh A1Y h1d <kl 96 €2 A hR Tehd &1 A 311X B 38 144 €2 H & Tehd & STafeh B 3R
C 39160 62 T R hd g1 C 31het IH I ! fohae €2 H 2 Heher &7

Ans  of 1 288
75 2.320
X 3.144
X 4.192

Question ID : 60092910812




Q.4 fereft st & ot ont s1ar 100 & TpoTT foRam wiTaT @ &t a8 36, 45 iz 50 ¥ yofa: fanfSa glar &1
AT HHT TAT T 8?2

Ans o 13
K 2.4
X 3.6
X 409

Question ID : 60092910799

Q.5 & @&} 150 kmph 3R 200 kmph &Y 7ifar & a1 F=elt &1 S gop @ folg @ 3= vl € ok fawdta
feamaeff o &1 @ w2 & are, ugeht R A nfr A 20% M fF AN 2 e gEH FR A wfr A
50% oY gfeg gt 81 4 e & sia 7 39 dia it gt Fra

Ans X" 11560 kms
/X 2.1510 kms
/5 3.1610 kms

o 4.1660 kms

Question ID : 60092910809

Q.6 81cm, 64 cm 31X 9 cm HTY & Teh TATH &l fFATATRT 12 cm MMHR & BR GTIAC ST &1 59
YRR 9 B U=l hY T=ar A1d hRi

Ans X' 1.36
K 2.9
v 327
X 418

Question ID: 60092910814

Q.7 2 auf & forg ufy af 5% & 1400 Fug 37 ufer aef 8% & 3200 wuy iz ufrad 6% & 1200 FUT
TR HTHTROT SGTST ATd il

Ans &X' 11194 3Ug
/X 2.597 3ug
o 3.796 wug
/X 4.398 73Uy

Question ID : 60092910808

Q.8 2R Teh gER ¥ 400 km Y g8 W &1 1R A 3R 1R B Y 7ifay shwen: 50 kmph 3 55 kmph @1
@R A 6 qafg =gl & SR &R B 7 galg A gt 81 3 goh g ot Fope woa faedin?

Ans X" 1.10:00 gafg
o 21020 gafg
#< 3.10:40 gafg
/X 4.10:30 gafg

Question ID : 60092910810




Q.9 48 a¥gail 1 AT geg X axgeil & fasha gea & sRraR &1 afe @er ufaera 20% &, &t X &1 714
AT H?

Ans  of 1 40
75 2.45
/X 3.36
K 442

Question ID : 60092910804

Q.10 & X 3R Y & hH2t: 10% HATROT sGTST 3R 15% Aehqfeg a1l bl g3 W 3600 FUY A1 faer
ferar mam U1 afE =T Sept @ 19 af F v sarsT & 390 $UQ &1 iR @, at 23 aef & urea s
AT B

Ans X" 1 53333307
/X 2.527.50 3ug
/< 3.566.67 3ug
o 4.577.50 70y

Question ID : 60092910807

Q.11 X 3R Y & urd Ueh 1Y fAATRT 4800 Uy &1 afg X it AfA ap1 1/3, Y it afA & 5/9 & sR1aR
g, a X & ur fepa=h aifr @2

Ans &X' 1.2700 3Ug
75 2.2400 3ug
75 3.2000 Uy
o 43000 o

Question ID: 60092910806

Q.12 arferert udh fawg & forg srfderawn il & Tru-ary faf = fawat & sr= grr ura fafvrs sient
Y gerfe 81 fora fawg & o1t A <geam st ufasra v farar @2
Ans X1 sfaer
o A
/X 3. et
of 4 cish

Question ID : 60092910815

Q.13 a:b:c:d & SRTSR AHTIUTA ATd s AfE a:b = 4:5, b:c = 4:7 3fiRc:d = 8:9 &1
Ans X" 1 128:160:280:300

75 2.120:160:280:315

X 3.128:160:140:315

J 4.128:160:280:315

Question ID : 60092910805




Q.14 12 & orf, 8 & 7 311X 16 & T AT AgTH AATUGAE AT Rl
Ans J 1.16

5 2.8

X 3.4

5 4.2

Question ID : 60092910798

Q.15 Qe a¥g &1 g9 3 gfg & arg 1000 Fug gt Siram @1 16/ gfg 11.11%, 2nd gfg 12.50% 3R 3rd
gf& 25% &1 9 g9 A1 i

Ans X" 1480 3Ug
75 2.320 %y
o 3. 64030y
75 4.1000 Uy

Question ID : 60092910801

Q.16 e 3R YA 1 Facam gah a1y @ mar1 16 Ted 3R 9 A 1 319 o1 30 FUQ @
Stafer 9 sherw 3R 16 GfAe a1 3iwa e 35 TUT &1 100 werd 3R 100 G &1 o ATd AR

Ans &X' 16000 3UY
o 2. 6500 Ty
/5 3.6400 3ug
75 4.7000 3ug

Question ID : 60092910800

Q.17 foreft avg ot 3840 TUT A S W= g1 A1 Hfeizrd, 2560
& AT 81 afE a¥g Al 25% o ST U <= ST @

Ans o 1 4000%TY
/5 2.3200 Uy
75 3.3600 %Y
/5 4.3840 3y

Question ID : 60092910803

Q.18 X 3R Y Weh k1 el shH2r: 20 3R 30 fa=i & o gand &1 6 f=l deh Qe A1y 1H A & arg, X
1t B T & SR Y &l skt @)t ST T usen &1 A v Rt g A A Y it fRan
f&m el

Ans X112
W 215
/X 318
/X 4.135

Question ID : 60092910811




Q.19 Tk g7l 4 cm R HeTah &1 5985 @ Udeh 1 cm ek aTel B2 9=l el =12 a7 81 foreq st
1 hl 59 UehIR aRIRM SITT & foh 92 = &1 Shaet 25% & AW g SI1Q?

Ans X' 1 64
o 248
X 3.16
< 4.32

HEN
o

Question ID : 60092910802

Q.20 AR i wars T & TfE gk AR S 66 cu cm HT 4 mm T & ER AR | dAR fRar Ssiar 8?2
Ans X' 1.2625m

W 2.525m

/X 3.7875m

75 4.105m

Question ID : 60092910813

Section : General English

Q.1 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option'No
Error'.

It is therefore not a criteria that can do justice to the principles of Wagner's non-
symphonic art, for its.

Ans x 1. can do justice to the principles of
J 2. It is therefore not'aecriteria that
x 3. No error

x 4. Wagner's non-symphonic art, for its.

Question ID : 60092910818

Q.2 Select the most appropriate 'one word ' for the expressions given below.

An action of regaining or gaining possession of something in exchange for payment,
or clearing a debt

Ans x 1. Blasphemy
J 2. Redemption

X 3. Atonement

75 4. Gambit

Question ID : 60092910832




AN
(0]

Q.3 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

They seemed frightened, (though chirped softly, as if they knew they were safe).
Ans x 1. although chirped softly, as if they knew they were safe

x 2. No correction required
x 3. still chirped softly, as if they knew they were safe

J 4. but chirped softly, as if they knew they were safe

Question ID : 60092910820

Q.4 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

Both the countess and Sonya understood that, naturally, (neither Moscow or the
burning of Moscow nor anything else could seem of importance to Natasha).

Ans x 1. neither Moscow nor the burning of Moscow or anything else could seemingly be

important to Natasha

x 2. neither Moscow or the burning of Moscow nor anything else could seemingly be
important to Natasha

x 3. No correction required

J 4. neither Moscow northeburning of Moscow nor anything else could seem of
importance to Natasha

l Question ID:"60092910821

Q.5 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.
Ans X" 1 Infalliable a a
75 2. Infalible

o 3. Infallible

x 4. Infalable

Question ID : 60092910827

Q.6 Select the word that is opposite in meaning (ANTONYM) to the word given below

Decorum
Ans X" 1. Protocol

x 2.Couth
/5 3.Dignity

( 4. Impropriety

Question ID : 60092910825




Q.7 Select the most appropriate meaning of the given idiom.

Narrow-minded

Ans X 1. Approximately, almost, somewhat, to a certain degree
x 2. To keep quiet, To say nothing
( 3. Not willing to accept the ideas of others

x 4. Nonsense or meaningless speech

HEN
~N

Question ID : 60092910829

Q.8 Fillin the blank with the most appropriate choice.

The dictator enriched himself but ______________ his people.
Ans X" 1. pardoned

x 2. proliferated
J 3. impoverished

x 4. cleaved

Question ID : 60092910823

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X" 1. Pilanthropist
X 2. Philantropist
x 3. Philahntropist

J 4. Philanthropist

Question ID: 60092910828

Q.10 The question below consist of a set of labelled sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

It is generally held that Babur’s guns proved decisive in battle, firstly because Ibrahim
Lodilacked any field artillery, but also because the sound of the cannon frightened
Lodi's elephants, causing them to trample Lodi’s own men.

P. The Left and Right divisions were further subdivided into Forward and Rear
divisions.

Q. Tulughma meant dividing the whole army into various units, viz. the Left, the
Right and the Centre.

R. The new war tactics introduced by Babur were the tulughma and the araba

S. However a reading of the contemporary sources show that more than the gun, it
was the tactics which helped in winning the day.

Through this a small army could be used to surround the enemy from all the sides.
Ans X' 1. PSQR

75 2.QPSR
/< 3.RQPS
o 4.srapP

Question ID : 60092910824




Q.11 The sentence below has been divided into three parts. Select the part of the

sentence that has an error. If the sentence has no error, select the option 'No
Error'.

She was surprised to see three people within, none of who looked like they fit in the
refined, elegant spaces of the parlour.

Ans J 1. none of who looked like they fit in the

x 2. refined, elegant spaces of the parlour.

X 3. No error

x 4. She was surprised to see three people within,

HEN
Qo

Question ID : 60092910819

Q.12 Select the word that is opposite in meaning (ANTONYM) to the word given below

Abortive
Ans ( 1. Successful

x 2. Fearful
x 3. Hopeful
x 4. Disrespectful

Question ID : 60092910826

Q.13 Fillin the blank with the most appropriate choice.

Underthe __________ . , a large number were killed, and between four and five
millions of Protestants left the country.

Ans J 1. persecution

x 2. rescission
X 3. compunction a a

x 4. restitution

Question ID : 60092910822

Q.14 Select the most appropriate 'one word ' for the expressions given below.

An area wit hin which someone or something has authority, influence, or knowledge
Ans X" 1. Lagoon

J 2. Purview

x 3. Hinterland

#< 4. Vicinity

Question ID : 60092910831




Q.15 Select the most appropriate meaning of the given idiom.
Knock on Wood
Ans X 1. To politely ask for someone's full attention
x 2.To understand the details

X 3. An introduction phrase to let the audience know that the last person mentioned is
also very important

« 4. Knuckle tapping on wood in order to avoid some bad luck

Question ID : 60092910830

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

What's fiercer than a lion but smaller than a beagle? T he honey badger, one of the toughest
mammals in Africa and western Asia. Honey badgers stand less than a foot high. T hey are
only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for
toughness that is far greater than their size. Some honey badgers will chase away lions
and take their kills. | guess that goes to show you that size isn't the only thing that matters
in a fight.

So, what makes the honey badger so tough? T hey have speed, stamina, and agility, but so
do many animals. They aren't stronger than lions, so how do they stop them? T he thing
that sets the honey badger apart is their skin. T heir skin is thick and tough. Arrows, spears,
and bites from other animals can rarely pierce it. Small bullets can't even penetrate it. Not
only is their skin thick and tough, it is also loose. T his allows them to twist and turn to
attack while another animal is gripping them. T he only safe grip one can get on a honey
badger is on the back of their necks.

i—loney badgers have long, sharpclaws. T hese claws are good for attacking and even better
for digging. Honey badgers are some of nature's most skilled diggers. T hey can dig a nine-
foot tunnel into hard ground in about 10 minutes. T hey love to catch a meal by digging up

the burrows of frogs, rodents, and cobras. T hey also use their diggingsskills toscreate their
homes. They live in small chambers in the ground and dth ce y will attack
horses, cows, and even water buffalo if they are foolish h
badger's den.

SubQuestion No : 16

Q.16 According to the passage, what does the line " | guess that goes to show you that
size isn't the only thing that matters in a fight" infer?

Ans x 1. Thelineis in reference to the predatory chain in Africa and western Asia.
J 2. Theline s reference to the size of honey badgers, even with their size they are one
of the toughest mammals out there.

X 3. Thelineis in reference to smaller animals in Africa and western Asia which
despite its size are highly dangerous.

X 4. Thelineis in reference to the size of the lion inferring its natural predatory nature.
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Q.17
Ans

Comprehension:

A passage s given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

What's fiercer than a lion but smaller than a beagle? T he honey badger, one of the toughest
mammals in Africa and western Asia. Honey badgers stand less than a foot high. T hey are
only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for
toughness that is far greater than their size. Some honey badgers will chase away lions
and take their kills. | guess that goes to show you that size isn't the only thing that matters
in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so
do many animals. They aren't stronger than lions, so how do they stop them? T he thing
that sets the honey badger apart is their skin. T heir skin is thick and tough. Arrows, spears,
and bites from other animals can rarely pierce it. Small bullets can't even penetrate it. Not
only is their skin thick and tough, it is also loose. T his allows them to twist and turn to
attack while another animal is gripping them. The only safe grip one can get on a honey
badger is on the back of their necks.

Honey badgers have long, sharp claws. T hese claws are good for attacking and even better
for digging. Honey badgers are some of nature's most skilled diggers. They can dig a nine-
foot tunnel into hard ground in about 10 minutes. T hey love to catch a meal by digging up
the burrows of frogs, rodents, and cobras. They also use their digging skills to create their
homes. They live in small chambers in the ground and defend them fiercely. T hey will attack
horses, cows, and even water buffalo if they are foolish enough to poke around a honey
badger's den.

SubQuestion No : 17

According to the passage, which of the following statement is incorrect?

x 1. Honey badgers are natural diggers and can dig a 9 foot tunnel in about 10
minutes.

( 2. Honey badger is most vulnerable at the front of his neck; i.e. at his throat.
x 3. Honey badgers" skin is very difficult to pierce

X 4. Although small in size honey badgers are very tough and fierce.
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Comprehension:

A passage s given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

What's fiercer than a lion but smaller than a beagle? T he honey badger, one of the toughest
mammals in Africa and western Asia. Honey badgers stand less than a foot high. T hey are
only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for
toughness that is far greater than their size. Some honey badgers will chase away lions
and take their kills. | guess that goes to show you that size isn't the only thing that matters
in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so
do many animals. They aren't stronger than lions, so how do they stop them? T he thing
that sets the honey badger apart is their skin. T heir skin is thick and tough. Arrows, spears,
and bites from other animals can rarely pierce it. Small bullets can't even penetrate it. Not
only is their skin thick and tough, it is also loose. T his allows them to twist and turn to
attack while another animal is gripping them. The only safe grip one can get on a honey
badger is on the back of their necks.

Honey badgers have long, sharp claws. T hese claws are good for attacking and even better
for digging. Honey badgers are some of nature's most skilled diggers. They can dig a nine-
foot tunnel into hard ground in about 10 minutes. T hey love to catch a meal by digging up
the burrows of frogs, rodents, and cobras. They also use their digging skills to create their
homes. They live in small chambers in the ground and defend them fiercely. T hey will attack
horses, cows, and even water buffalo if they are foolish enough to poke around a honey
badger's den.

SubQuestion No : 18

Q.18 What character trait are Honey Badgers known for?

Ans

«1.Toughness
X 2.size
x 3. Cunning

x 4. Strength
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

What's fiercer than a lion but smaller than a beagle? T he honey badger, one of the toughest
mammals in Africa and western Asia. Honey badgers stand less than a foot high. T hey are
only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for
toughness that is far greater than their size. Some honey badgers will chase away lions
and take their kills. | guess that goes to show you that size isn't the only thing that matters
in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so
do many animals. They aren't stronger than lions, so how do they stop them? T he thing
that sets the honey badger apart is their skin. T heir skin is thick and tough. Arrows, spears,
and bites from other animals can rarely pierce it. Small bullets can't even penetrate it. Not
only is their skin thick and tough, it is also loose. T his allows them to twist and turn to
attack while another animal is gripping them. The only safe grip one can get on a honey
badger is on the back of their necks.

Honey badgers have long, sharp claws. T hese claws are good for attacking and even better
for digging. Honey badgers are some of nature's most skilled diggers. They can dig a nine-
foot tunnel into hard ground in about 10 minutes. T hey love to catch a meal by digging up
the burrows of frogs, rodents, and cobras. They also use their digging skills to create their
homes. They live in small chambers in the ground and defend them fiercely. T hey will attack
horses, cows, and even water buffalo if they are foolish enough to poke around a honey
badger's den.

SubQuestion No : 19

Q.19 What physical quality makes honey badgers so tough?

Ans

x 1. Their Stamina
«"ZATheirskin
x 3. Their speed

75 4. Their Agility
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose
the best answer to each question out of the four alternatives.

What's fiercer than a lion but smaller than a beagle? T he honey badger, one of the toughest
mammals in Africa and western Asia. Honey badgers stand less than a foot high. T hey are
only a couple feet long. They weigh just over 20 pounds. Yet they have a reputation for
toughness that is far greater than their size. Some honey badgers will chase away lions
and take their kills. | guess that goes to show you that size isn't the only thing that matters
in a fight.

So, what makes the honey badger so tough? They have speed, stamina, and agility, but so
do many animals. They aren't stronger than lions, so how do they stop them? T he thing
that sets the honey badger apart is their skin. T heir skin is thick and tough. Arrows, spears,
and bites from other animals can rarely pierce it. Small bullets can't even penetrate it. Not
only is their skin thick and tough, it is also loose. T his allows them to twist and turn to
attack while another animal is gripping them. The only safe grip one can get on a honey
badger is on the back of their necks.

Honey badgers have long, sharp claws. T hese claws are good for attacking and even better
for digging. Honey badgers are some of nature's most skilled diggers. They can dig a nine-
foot tunnel into hard ground in about 10 minutes. T hey love to catch a meal by digging up
the burrows of frogs, rodents, and cobras. T hey also use their digging skills to create their
homes. They live in small chambers in the ground and defend them fiercely. T hey will attack
horses, cows, and even water buffalo if they are foolish enough to poke around a honey
badger's den.

SubQuestion No : 20

Q.20 According to the passage, which part of the honey badger is most vulnerable?
Ans ( 1. Back of their neck

x 2. Front for their neck
x 3. Their skull
x 4. Their back

Question ID : 60092910836
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Comprehension:
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Question ID : 60092910992

Q.13 i9-H sielt o1 IS Tnfger =g &2
Ans X1 AfeR

o 2 sk
/< 3. gRamrdt
75 4. vl

Question ID : 60092910982




PAGE 56
Q.14 &} YT &1 HIF-61 0 Feis @ UehIAA giar 41?
Ans X1 2efadh
/X 2. A
o 3. fdrem
X 4. PR

Question ID : 60092910987

Q.15 #grRIE & quf & fera "agrr ve afffe Sit s oo ) St dwn g, sueht o w9 gs?
Ans  of 1 1936

X 2.1947
7% 3.1950
X 4.1963

Question ID : 60092910986

Q.16 fr=1 # & =+t sfaror srar 78 &2
Ans X‘Im

o 2. R

K 33w

/X 4. wermrem

- — e

[ Question ID : 60092910989

Q.17 fora g & a3t =Ruit & quif A Tz=ar fAaa gt @ e Hﬂ
2?
Ans X1.mﬁ-c5€6‘c:

X 2. qwes
W 3.affEmee
X 4. ot e

Question ID : 60092910995

Q.18 "urur-fasrra wraT Y Iaafw, I TATae, ITS faamra auT 3u g1a i durfes e Far
21" forads g faf@a arera 87

Ans X 1 zier &g et
o 2 < R e
X 3. ffewm s
X 4. <1, e Rrand

Question ID : 60092910990




Q.19 2rez 21fh & fopam HeRIR 82
Ans X' 1.4

X 2.5

W33

X 4.2

Question ID : 60092910998

Q.20 fop=1 & wi=-|1 MTaT =T o ferm =gy &2
Ans X' 1 afy REm

75 2. @fm e

75 3. wefwm

W 4. e e

Question ID : 60092910983

Section : Discipline8

Q.1 f=afafRad @ g2a oiir sieg Areaw wiF-91 82
Ans X 1. 3eRg erEe

75 2. R ae

/X 3.3 yER

W 4 e

Question ID: 60092911008

Q.2 fad @ gAiviad a9 &5 & A1y R fohy daes Y "9 9 UARIR ATHe g forddt 87
Ans X" 1. 7T EHIE I

o 2. el frardr

75 3. ey arsTae

/X 4. R St

Question ID : 60092911013

Q.3 fq, g19, 2iteh nfE =t wral st uertfAe ar ao<h A areft snsr i AeTd a1 SHgerd &2
Ans o 1 s

P VACE

p SRR

p R ik

Question ID : 60092911002




Q.4 9T&iThR & AT Al & rge fag g famedl d & s a1 faeey e 82
Ans X 1. Rd FIETTehR & Tsie § He TTeh ohi 30T I&T TE eheAT AR |

/X 2. rge reiTenr @1 8 I fAiere srordT gy @ Tudh w@ifiid e Y, gwe gd @
e o= =T =TiRTl

o 3. TETEER & IR WaTeR 2 aret fs 1 S, e srrar @ SR & i ua
U ST Tehdt g

/X 4. TEITEhR & quE &Y o ygEr gd gl g Sasah B

Question ID : 60092911010

Q.5 7 & frH THTER U5 & HuTeed g arerEs T el 97
Ans  of 1 T

75 2. & sraret

/X 3. A

/X 4. SEEIRTAR

Question ID : 60092911012

Q.6 "frEr dEe 1o A I Ui & SITHIR WSS T @ $UR-SeR Fél g8 G sl w R
Tear g1" foradh grw forf@a area 82

Ans X" 1. ek wRelt
75 2. daeR e
o 3. s 2 g
75 4. FegeR aret

Question ID : 60092911016

Q.7 & uereRtRaT 1 UgeiT TRUT hd @ el ch & GHYT ! g
Ans X" 1.1926 4.9 1973 . deh ol

o 218265 41873 % am !
75 3.17264.41773 . aa ol
75 4.1800%.91826 €. ach ol

Question ID : 60092911006

Q.8 1909 # STARihR v¥TE A fope uf3rent a1 uerTer forar?
Ans  of 1 2

X 2.dmeg

75 3. i

75 4. 9y

Question ID : 60092911009




Q.9 o2 ¥ fFrafta auf ar arsn W afw a9 & g e u=ar 8, 39 Fa & AT &) R Fed &7
Ans “1.;1-%

X 2. fRwm
K33
X 41w

Question ID : 60092911004

Q.10 "ar% 4% hY due fopeol @t @Y off ST-ue 7" - FiF-471 SRR 87
Ans o 1. sruE oriER

/X 2. awe IR

X3.mm

/X 4. gefRn SreiehR

Question ID : 60092911005

Q.11 farg are 2fF dt ucfifr gad ugat gonm &t 82
Ans X" 1 weror

o 2. aftren

x 3. &orT

p R

[ Question ID : 60092911018
—_—
Q.12 "ST &1 HoT ggot Al &9 R Y1 fay 962 59 4a IR ' i
%? a

Ans X" 1. I3l IeihR

Jz.ﬁmaﬁw
/X 3. 3fn srefeR

/X 4. awe SR

Question ID : 60092911000

Q.13 FeRH AT AT Y, qReAY efY Fepral|
Hig @, g, T g, e Srd| - A Hi7-@ @ &t sifvreafer gdd?

Ans (Ip,irmqq
75 2. e
X 3. e
X 4. dRzw

Question ID : 60092911001




Q.14 siiifeer af3rent "ssT" (1921) & TUTgeh i 4?
Ans X 1. 7 AR

f 2. il A sy wRrge

/X 3. st wgrRETE Zad

/X 4. dfeq AR Uiy

Question ID : 60092911015

Q.15 fE} & s Aot ust S - sirRaf®e, aRygenfafy, SRaaw safy wa § @af @ vefa ge
&7

Ans X1 Rl
X 2w
/X 3. reE

o 4 s

Question ID : 60092911011

Q.16 XA # UgT STUETT 91 1556 H gl GAT?
Ans X1 TR

X 2. T

X 3.4%¢

of 4 v

Question ID : 60092911014

Q.17 =1 arera & pl=-ft 2reg 2rfRr 87
ek TTem |

Ans X 1. aifeer
75 2. @
25 3. et e

of 4. @eron

Question ID : 60092911003

Q.18 TRt v, siiar a1 yoars & ulkurms &t weffa oA & forg fora s faren o1 sut forar
ST 81

Ans le@@‘f
/X 2. wren e
75 3. R aA
of 4. R R

Question ID : 60092911007




Q.19 H=md el &Y Feear fepaeit A= st 82
Ans X1 gedig

X 2@

X 3

v %-ri

Question ID : 60092911019

Q.20 uget Wit-ATfeh-U= ST AT 717 UT?
Ans X" 1 epfee ger

X 2. wead

/X 3. Raudu

o 4 sremEfE

Question ID : 60092911017

Section : Discipline9

Q.1 fag g famredt & @ w&l Frerers &1 g9 IS
Ans X 1. gawTd-3RE w-gRE

V 2. S

75 3. Wi ERE-geh

K 4. PRI ERER

Question ID: 60092911021

Q.2 Jfa =) Frea Y ST AT a1 SrATd i A2
Ans X 1. s ATy

X 2. amrg

/X 3. e

of 4 amm

Question ID : 60092911023

Q.3 ST W kT ATH W T 8?
Ans X1z

o 2 i
X 3w
p R

Question ID : 60092911022




Q.4 fa=d @ Fi=-ar fagra diwed & argx it avg = A1 799 & Wi hi a¥g A17r &2

Ans

o 1. st s gE
/X 2. 919 R

/X 3. st gerivETE Zad
7% 4. 7% g arTadt

Question ID : 60092911024

Q.5
Ans

hred § ST h QAE] AT TANT 1 UR hI9-9T SV ghdr &2

75 1. g
/X 2. seraa
75 3. guea
W 4 sfwrea

Question ID : 60092911020

Q.6
Ans

I & " Sif e fRigia” ol forass wikdtg sraansia fRgia @ siter sirer @182

X1 e
V 2.5
75 3.9
X 4.ama

Question ID : 60092911026

Q.7
Ans

Tepe @ e el fohe e 6T 82
X 1. s e sog
/X 2. s
' 3.
P R

» adda

Question ID : 60092911028

Q.8
Ans

£ Tefterr & STHETar I AT SITd 82
o 1.sFre
X 2. FeRs

X 3w
X 4 adad

Question ID : 60092911027




Q.9
Ans

Y vaTE & foRd Areeh Y Ut @2
W 1w
/X 2. e
/X 3. gaafeh
X 4.

Question ID : 60092911029

Q.10 399 @ &l T WA KT T TUSTT g1 8?2

Ans

75 1. aifs

X 2.af
W 3.
P R C

Question ID : 60092911025

Comprehension:
frafafEd saaeer & erydes ufey ofk Su8 wweifda nel & Ry 7y sgfadeat # 4 wg faed &t
ERl

IR FATST # =13t ol GRIfEd a9 & ufd FaT & ISRAT 3R 2fehT a1 araraRor 8T §1 SHTH ARl
YROTT 3EY & foh st ot R S o1 1S o7 T8 81 I Y 8ida: Tea-ich A @Y ST &1 Ul o
3R ggsT ot o fRARTT  S1ereh 3@ &1 S1TST URFRATAAT Jeeq 3R TReAR o o 21811 & Ui STRare bl
TR @ 7 & URG Faa g1 e fRIET el Aeeh fond ST & 1K enaradt ant ot fRifard g1 o sraeR
e G311 &1 5¥7ch GuRUTH off T ST 36 61 18ah ofR sforar o {18 srgura # Siger o <6l 81 Feh
fRreqT = ST ahl =Tt aht fR1erT et & g Tieafea foram &1 fo off et MAretTens oo ITgsien
T8 hg STT Tehd | TSI} 5T IRV § e fRIeTT & 3Meh MicaTgTardd el 37f @Al
f3[ees aréfener o ST, I et &t off Fig[ees s anfy deft i &)
SaT ot URT A & fog A8t &1 37t dh=amait & ufa mgfa
WG o et ST T oot 9T WR i shoR fHEsor fomar
gt

SubQuestion No : 11

Q.11 o asfraT A3 FASIT T R 14 IST Tehell &2

Ans

X 1. 3% Rieres @ ame gerddt

25 2. 59 3% SreReEh uga S sy

X 3.7 3% R & sl A g a=E geh ok sem
o 4. 5 R &t et R smem

Question ID : 60092911033




Comprehension:
ffafad saaror st erFgde ufey Sk Iad awifea usi & oy 7Ty agfaehedt § @ g fased !
RUE

AR TATST # w13t ol GRIfET a9 & ufd FaT & ISRAT 3R 2fehT &1 aara=or 8T §1 ST AR At
YROTT 38} & foh hwarait ot RS a1 1 RIS o7 781 81 I @t Sida: Tea-dich A @Y ST &1 Ul g
3R ggot ot o= A& 7 S1ereh 38 &1 31T IREAfAaT sgem 3fR TRPR o o 1811 & ufa IwRefde &t
TR @ 7 & TRG FaeT g1 e e et Ress fond S & TR ahwarstt ant oft Rifard g & sreeR
TG g1 &1 S99 GURUT off T o @ 81 ofeh ofik eTsforat o fRier srgura & dger o <@ 81 Ages
fRr&1T 3 ST ot =TSt @At e R & forg vicanfed foram &1 fthe off et fieTTene aRRomm Icamgsian
gl g ST Tehd | TSI TS0 IRV H a1 AL H 3k McTg-TarIch el S31 Y | BIATSH aht
A1 arSfoRer fcm S, S fRverT ot oft FRigrees ST onfe QR €1 ateid 81 dhaet :qeen et ooy
ST sl AR e o forg et 81 IR ahwamait 3 ufay Aeigfa ot off s g eigdh ofik dgdhl &
FeTa ol e SR a7 &g U1 WR off haR Fd=vr foham St aoft evward f:g[eeh 18T &t g1 @ 3T
gt

SubQuestion No : 12

Q.12 feg g faereal # @ wi=-91 T o1 FuTTAT 2reg, 7 &2

Ans

F RET

X 2. R

W 3. s

X 4. giaR=

Question ID : 60092911034

Comprehension:
frafefad saawor &t eMyde ufey Sk Sud awifda usi & fay 71g gfadhed| § € gl feaed @l
ER

Wwﬁwaﬁaﬁmamﬁamﬁwﬁmaﬁummww%Gnna’trﬁzﬁr
YRUTT Y& & o =il &l fRATET I T Bl A1 A8l &1 I df Sidd: Jeg-d e
3R agat oft o 2181 F a1eres 38 §1 oS URIITAAT deem iREReR o ahwi
TR @ o & uRga e &1 e fR1a et Ageeh fond ST g
e §3AT &1 $¥ch GURUMH i T 318 &1 eSch SR Isf
ﬁmﬂaﬁﬁaﬁw@raﬁﬁwﬁaﬁéﬁmmﬁq@am%l ; c
qﬁar%mmﬁémgkﬁwaﬂm%ﬂﬁmﬁmﬂmmmaaﬁw|@maﬁafr

I ATSfchet T ST, = fRvem ant ot Figreen ST onfe QR &1 aie1] 81 chaet f:[eeh fR1er areftor
Wﬁﬁﬁaaﬂﬁaﬂﬁqqﬁ%laﬂiﬁweﬁ%uﬁqﬂqﬁaﬁﬁﬂwaﬁma@saﬁza@ﬁ%
WHTT T e ST TAT S8 U7 UR +ff ShoR =0T fohaT ST a3t shwary 94:3[eeh FR18TT ol ORT 1T 33T
il

SubQuestion No : 13

Q.13 fore 10T @t SroeR Afeat st frer feem & fag aar gu &2

Ans

W 1. Figees R & R

X 2. reheni & Rk & aon

75 3. wTefnl & et Yo  uRaR w02 fierd & gafeg
75 4. 3t A & ROT

Question ID : 60092911032




Comprehension:
ffafad saaror st ermgde ufey Sk Iad awifea usi & oy Ty agfaehedt # @ g faed
Tl

AR TATST # w13t hl GRIf&T a9 3 ufd TaT & ISRAT 3R 2fehT &1 aIara=or 8T §1 ST AR At
YROTT 38} & foh hwarait ot RS T 1 RIS o7 781 81 I @t Sida: Tea-dich A @Y ST &1 Ul g
3R agot ot o= A& 7 S1ereh 3 &1 31T IREAATT sgem 3R TRpR o o 1811 & ufa IwRefdea &t
TR @ 7 & URG FaeT g1 e e et Ress fond S & TR ahwarstt ant oft Rifard g & sreeR
TG G 81 597 GuRUTT off T o1 38 81 ofsch ofR wrsforat o et srquta # Sger o1 a1 81 FAgres
feqT = AT ol =Tt ol R e o foig Uieenfed foram 81 o off et fAretTens aRRoTH ScuTgsten
gl g ST Tehd | TSI TS0 IRV & a1 AT H 3k Mgt el S31 T | BIATSA aht
1o arfoRer fcm S, S fRverT ot oft FAigrees ST onfe QR €1 aieid 81 dhaat :qeen e ooy
ST sl AR e o forg gt 81 IR ahwamait 3 ufay ARigfa ot off s g digd ofik dgdhl &
FeTa ol e SR a7 &g U WR off shaR =0T foha St aoft evward 3 g[eeh 18T &t g1 @reT I3t
gt

SubQuestion No : 14
Q.14 3g=3% & IFHR dsfral  fAfdra wem aaf arveras 98 82

Ans o 1. oid & I R aTER BT BT A e FRATh R T T &) AT B
25 2. i orefenal gER wR St 3R Tigah U & TR e et §
75 3. it g 2 A B &
X 4. Tefnal Y UgTE AT feigpet oft udie AE &

Question ID : 60092911031

Comprehension:
fafefad saavor &t eFyde ufey Sk Sud awifda usi & oy 71g agfached| § € gl feaed @l
ER

wmﬂuwﬁwaﬁaﬁgﬁﬁmaqﬁ%nﬁwﬁmaﬁummww%Gnna’trﬁzﬁr
YRUTT 3@ & foh sl ot RIf&rd ST & ahls 1% e &1 I3 af Sidd: Ieo-a e
3R agat ot o 21811 F a1eres 38 §1 oSt URITAAT deem iREReR & ahi
TR @ o & uRga e &1 et fR1E et ATeeh fond S 9
TS §3AT &1 $¥ch GURUTH i T 313 &1 Sch SR Isf
RYEHT 3 <A77 oY Tt Y FRYEAT R 3 forq Siteciiee fomarr 21 R e
aﬁar%mmmgkﬁwamﬂﬁmﬁmﬂmuﬁmmamw|waﬁaﬁ

I ATSfchet T ST, 3= fRvem ant ot Figreen ST onfe QR &1 ai1] 81 chaet f:[eeh fR1er areftor
Waﬁﬁﬁaaﬂﬁaﬂﬁqqﬁ%lﬁ?ﬁweﬁ%uﬁmﬁ%aﬁ%ﬂwaﬁma@wﬁza@ﬁé
FeTa ot e SR qT ggs um uR off haR Fdsror fovam St aoft enamd f:gpeeh 18T ST gRT T IaT
arhft

SubQuestion No : 15
Q.15 fag g srgede o1 9@ 2fida ol
Ans X 1 R a e

75 2. Remsma
o 3. 3o s Rien & aRRom
X 4. ot e Y Rgeen e

Question ID : 60092911035




Comprehension:
fmfafad shreaisr st ermgEes ufey Sk ITd awiferd usi & Ry Ty agfaeedl # @ @@ faeed At
Ei

g Sfia= o &2 AR &, vt &€ g9t urit &, g-g@ & Al R @ 9 381 g FAAE 8

e el IR & ofar @7 fohy siaer & 3w 1=, fore a1ét © g o ST Iaae | o+ &l @i
ARk & 7fa & Sfa 8, I8 ST IgdT ST 81 4 Uah T & I ohl, 370+t J%dt & 71T 81

1eT & AT ° 1T, IF & USl O ST, Igdl IgH! IR Tgdl, ToAdT dta- I HeATar|

AR 35t &, R &, T1faes a9 R usardn §, a9 a1 dgar g o, Agk ggar &t srar g1
R hear & 98 Tl 3@ Ad NS Gea, a1 hedT & ¢ el T 7 1 g Il e
T & harel Tl &l S Tefdl & 8l 8, Ieh ST & "R ST 8, (1SR 98 sRen dgar g1

SubQuestion No : 16

Q.16 whTeaier & AR fefk gd o a3er ar @2

Ans

25 1. geo did 2@ @
X 2. e & 3ok o @
25 3. arensh A e @
f & waemaa e

Question ID : 60092911038

Comprehension:
fffad st st ermgdes ufey Sk ITd awifea sl & Ry 1y agfaeedl § @ g faeed At
Ei

g Sfta= 82 gk &, 7%t & s9en urfl & gE-g@ & a1 IR & 9 <81 78 JaE 8

e el IR & ofar @7 fohg siarer & Iawr 1=, fohe arét O 98 &z o1an THdd # /0 &l @id |
gk # nfa g Sfa &, a8 S Jedr Sl 61 g7 Goh [Ath & Ia hl, S0+ A&l & 777 31

1eT & AT  F1dl, I & USl & ST, Igdl IEH! UR Tgal, Tetdl dta- o HEATdT|

AR 35t &, R &, F1fdes a9 R usardn &, a9 g dgdr & 3, Ak ggar &t s g1

Rk hgar & 9¢ Tl 3t AT NS geohs, Tl hear & 9¢ Tl T 7T T gl Tt

AT § hardl Tl gl SfiaT IodT &) T §, Feh ST & TR

SubQuestion No : 17 a
Q.17 wramin o 3fa 2fidfear gfag|

Ans

75 1. PgR o ot
X 2. daa a1 Sfa
W 3 TR e AT g
X 4.3 & TEe

Question ID : 60092911041




Q.18

Ans

Comprehension:
ffafad et st ermgdes ufey Sk I8 awifed usit & Ry 7y agfaeedl # @ T8 faeed At
i

g Sfia= o &2 AR &, vt & g9t urit &, g-g@ & Al R @ 9 381 g FAA 8

e el IR & ofdr @7 foh siaer & 3w 17, fore a1ét © g o ST Taae | o+ &l @i
ARk & 7fa & Sfa 8, 98 T IgdT ST 81 4 Uk OTh & I <hl, 370+t J%dt & 71T 81

1eT & AT ° 1T, IF & UST O ST, Igdl IgH1 IR Tgdl, TAdT dta- I HeATar|

AR 35t &, R &, T1fdes a9 R usarn §, a9 a1 Igar g o, Agk ggar &t srar g1
R heaT & 98 Tl 3@ Ad NS Gea, a1 hedT & ¢ el T 7 1 g Il e
T & harel Tl &l S Hefdl & 8l 8, Ieh ST & "R ST 8, SR 98 SRe dgdl g1

SubQuestion No : 18

" srgar & 93 Tt et 9 T gl 9 Rl
tf<h &1 AT 3ref 87

75 1. af 71 7 HiETE &t vk Srreit ot e wEt
X 2. HieTE A RS S &

o 3. 5 5 ), s i A are

X 4. sfrsa i g, achom B @

Question ID : 60092911039

Comprehension:
ffafad et et ermgds ufey Sk I8 awife st & Ry Ty agfaeedl § @ ot s ot
Ea

g Sfta a1 82 AER §, il 61 s%et Ul &, G- & alAl ki & 9 <81 308 T Bl

e el IR & Sick &2 fohe Siret & Iav1 14, fohe a1él T a1 e S1rar THde | 30 il @i |
gk & nfa g Sfa= &, a8 o dedr Sa1 81 g7 Uoh Rth & Ie &, 7ot #%dl & T 81

18T & AT O 11, I o USl & TohIdT, Sadl IgH1 IR Tedl, TAdT dta-T I HeHTaT|

e 35! &, el § A1fdes 9e IR usarar g, 99 dia+ FedT & 3, gk ggargysmar g1

R ohgar & 9¢ el 3@ AT NS gea, diaH shedl § 9 7
W%WW%!WW@‘TW%,WW%W% a
SubQuestion No : 19

Q.19 feg g faereal # @ Si=-91 GHaA &1 faeta g 82

Ans

v e
X 2. 9w
X 3.9ure
X 4. =ue

Question ID : 60092911040




Comprehension:
fmfafad st st ermgEes ufey Sk ITd awifea usi & Ry Ty agfaeedl # @ T8 faeed At
B

g Sfia= o &2 AR &, vt & g9t urit &, g-g@ & Al fRY @ 9 381 g FAA 8

e el IR & ofar @7 fohy siaer & 3w 1=, fore a1ét © g o ST Taae | o+ &l @i
fER # nfq g S &, a8 S Jea1 a1 81 g7 Uoh [th & Ia &, SO A%l H 11 g1

1eT & AT  FTdl, IF & USl O ST, Igdl IgH! IR Tgdl, ToAdT da- I HeATar|

AR 35t &, R &, T1faes a9 R usardn §, a9 a1 ggar g o, Agk ggar &t srar g1
R heaT & 98 Tl 3@ Ad NS Gea, d1a-T dhedT & ¢ el T 7 o1 g Il e
FAT & hadl TAT gl ST TAdT gl g &, T ST & TR STHT &, gk I8 SR P 8

SubQuestion No : 20
Q.20 wrremiar d Ak a Sfra= d o gur=ar gars 7€ 22

Ans  off 1. 2 waareeE &
< 2. 3 & SerfiaT
X 3. AT gma &
X 4t Fur g

Question ID : 60092911037

Section : Teaching Methodology

Q.1 fra yerR & MAfew srudeF & & siafa fawgna duwrer udarr sl 82
Ans X 1. gefgeF aEd
Jzﬁga&magcr

/X 3. Fetie 2gy
X 4. qoifiie gy a d
Question ID : 60092911057

Q.2 g IurmH A "aerfkevor ar afgersil & sifNardga ol e 3 32 srm sfia wR fArisor &
Y 21f?h 3 W eara S frar?

Ans Jl%ma@mﬁﬁn(ew)
/X 2. Rrergrees SumTe § wfgerd
/X 3. AFERER smenRd SunTE
X 4. e R R

Question ID : 60092911048

Q.3 i fAfY earagTiRerararsg & =i ofir 'ar & A’ & RAgia R snurRa g?
Ans X' 1 gesf RIfY

o 2. i Ry

/X 3. uferat RfYy

/X 4. FEuR

Question ID : 60092911043




4 ____ Aerfres wtett T ST i g fOra dhae g siek & st it i@ .
@1 & Suh farega arft W e dfea s nfaw &1
Ans o 1 graRor
75 2 Raé
7% 3.9 wrEe shad
X 4w

Question ID : 60092911053

Q.5 39 Y &1 A9 Fa13Q S Afvhed o AT A&T0N Y ATUA & 31 cafwal @1 auf 39 @vg
et @ S TR I @A §

Ans X 1. fircr iR AedigfRme sl
75 2. 3 qeede gl
W 3. R aweed 59
/X 4. Praudafed gl

Question ID : 60092911059

Q6 ___________ AR R Site 3R goue Hi uronaif R Sy &, gaft 39 smars iR
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